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Q1  The rang of the given graph of the function is 

 
(a) [−0.5,2]                    (b) [−2,0] *                   (c) (−2,0)              (d) (−2,0] 

 

Q2  The solution set of the inequality |2𝑥 + 5| > 3   is 

(a) [−4, −1]                                         (b) (−∞, −4] ∪ [−1, ∞)            

(c) (−4, −1)                                        (d) (−∞, −4) ∪ (−1, ∞)  * 

 

Q3 The solution set of the inequality  −1 < 2𝑥 − 5 < 7    is 

(a) (2,6) *                                            (b) [2,6]   

(c) (2,6]                                               (d) [2,6)   
 

Q4  The representation of the closed interval [−1,8] in the set builder notation is 

(a) {𝑥| − 1 ≤ 𝑥 < 8}                           (b) {𝑥| − 1 < 𝑥 ≤ 8}                          

(c) {𝑥| − 1 < 𝑥 < 8}                           (d) {𝑥| − 1 ≤ 𝑥 ≤ 8}    * 

Q5 The slope of the line parallel to the line  5𝑥 + 2𝑦 + 31 = 0    is 
 

(a) −
2

5
                          (b) 

5

2
                           (c) −

5

2
  *                       (d) 

2

5
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Q6 The slope of a vertical line is 

(a) 0                            (b) 1                         (c) undefined    *              (d) −1 

 

Q7  If 𝑓(𝑥) =
𝑥2+1

3𝑥−9
−

1

√𝑥−2
   , then the domain of the function is 

(a) (2,3) ∪ (3,∞)    *                                (b) (2,3)  

(c) (−∞, 2] ∪ [3,∞)                                  (d) (−∞, 2) ∪ (3,∞) 

 

Q8 The range of the function 𝑓(𝑥) = 3 − 𝑥2   is  

(a) [3, ∞)                                                   (b) (−∞, −3]   

(c) [−3, ∞)                                                (d) (−∞, 3]     * 

 

Q9 The range of the function 𝑓(𝑥) = sin(3 + 𝑥) + 7   is  

(a) (6,8)                    (b) (−8, −6)              (c) [−8, −6]   *             (d) (−∞, ∞) 

 

Q10 The equation of a line that through the point (1, −4) with slope 2  is 

(a) 2𝑦 + 𝑥 − 6 = 0                                   (b) 𝑦 − 𝑥 − 4 = 0      

(c) 2𝑦 − 2𝑥 − 6 = 0                                 (d) 𝑦 − 2𝑥 + 6 = 0    * 

Q11 The solution set of the inequality   𝑥2 + 2𝑥 − 8 ≥ 0    is 

(a) (−4,2)                                                 (b) (−∞, −4) ∪ (2,∞)   

(c) [−4,2]                                                  (d) (−∞, −4] ∪ [2,∞)  *   

 

Q12 The given function  𝑓(𝑥) =
𝑥2−3 cos 𝑥

2𝑥4−𝑥2+5
   is 

(a) an even function   *                              (b) an odd and even function  

(c) an odd function                                    (d) neither even nor odd function 
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Q13 The domain of the function  𝑓(𝑥) =
𝑥−7

√4+𝑥2
   is 

(a) [−2,2]                                                  (b) (−2,2) 

(c) (−∞, −2] ∪ [2,∞)                               (d) (−∞,∞)  * 

Q14 The following curve that represents a function is 
 

(a)  

 

(b)  

 

(c) * 

 

(d)   

 
 

 

Q15 The expression  1 − 𝑠𝑒𝑐2𝜃 = 

(a) 𝑐𝑜𝑠2𝜃                      (b) 𝑡𝑎𝑛2𝜃                    (c) −𝑡𝑎𝑛2𝜃   *           (d) −𝑐𝑠𝑐2𝜃 
 

Q16 The equation of the line passing through the point (−1,5) and perpendicular to 

the line 3𝑦 − 7𝑥 − 5 = 0   is 

(a) 𝑦 − 7𝑥 + 32 = 0                                       (b) 7𝑦 + 3𝑥 − 32 = 0  *    

(c) 7𝑦 − 32𝑥 − 7 = 0                                     (d) 3𝑦 + 7𝑥 + 32 = 0      
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Q17 The distance between (2, −5) and (−1,4) is 

(a) √24                         (b) 90                        (c) √90   *                 (d) 24   

 

Q18 The given function   𝑓(𝑥) =
𝑥3−√2 𝑥+

1

5

𝜋−6𝑥−
1

9
𝑥3

   is 

(a) Rational function  *                               (b) Root function   

(c) Power function                                       (d) Polynomial function 

 

Q19 The given graph of the function is symmetric about the  

 

(a) 𝑥 −axis                 (b) 𝑦 −axis              (c) origin point  *           (d) 𝑦 = 𝑥      

 

Q20 The angle 
4𝜋

3
 rad = 

(a) 240°  *                  (b) 135°                    (c) 160°                        (d) 150° 

 

Q21 Let 𝑓(𝑥) = 𝑥2 , then the new graph of 𝑓(𝑥)  is shifted to the right three units and 

then reflected about 𝑥 − axis is  

(a) 𝑓(𝑥) = 𝑥2 − 3                                  (b) 𝑓(𝑥) = (𝑥 + 3)2 

(c) 𝑓(𝑥) = (3 − 𝑥)2                               (d) 𝑓(𝑥) = −(𝑥 − 3)2  * 
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Q22 Let 𝑓 be a function 𝑓(𝑥) with domain  𝐷𝑓 = [a, b]. Then the domain of the 

function 𝑓(𝑥 − 1)  is  

(a) [a, 𝑏]                                                 (b) [a + 1, b + 1]     * 

(c) (a − 1, b − 1) *                                (d) (𝑎, 𝑏)   

 

Q23 If 𝑥 ≥ 2  ,   then |𝑥 − 2| = 

(a) 2 + 𝑥                     (b) 𝑥 − 2  *                 (c) −𝑥 − 2                (d) 2 − 𝑥 

 

Q24 If 𝑓(𝑥) =
1

3−𝑥
   𝑎𝑛𝑑   𝑔(𝑥) = √𝑥 − 2  ,  then the domain of (𝑓𝑔)(𝑥)  is 

(a) (0,3)                                                   (b) [0,3] 

(c) [0,3)                                                   (d) [0,3) ∪ (3, ∞)   * 

 

 

Q25 If  cot(𝜃) =
3

2
   and  0 < 𝜃 <

𝜋

2
  ,  then  csc(𝜃) = 

(a)  
√13

3
                            (b)  

√13

2
  *                       (c) 

2

√13
                    (d) 

3

√13
 

Q26 If the function 𝐹(𝑥) = (2𝑥 + 𝑥2)4  ,  then the representation of the function 𝐹(𝑥) 

in the form 𝑓 ∘ 𝑔  is  

(a) 𝑓(𝑥) = 2𝑥 + 𝑥2 ;  𝑔(𝑥) = 𝑥2                (b) 𝑓(𝑥) = 𝑥4 ;  𝑔(𝑥) = 2𝑥 + 𝑥2    * 

(c) 𝑓(𝑥) = 2𝑥4  ;  𝑔(𝑥) = 2𝑥 + 𝑥4             (d) 𝑓(𝑥) = 𝑥2 + 𝑥4 ;  𝑔(𝑥) = 2𝑥 

 

 

 

Q27 If the function  𝑓(𝑥) = { 

1 − 2𝑥           𝑖𝑓        𝑥 ≤ −1  

𝑥2 + 2𝑥          𝑖𝑓       𝑥 > −1
.    Then 𝑓(−3) = 

 

(a) 3                          (b) 9                          (c) 7  *                        (d) −5 
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Q28 If  sin(𝜃) =
2

5
   where  0 < 𝜃 <

𝜋

2
  ,  then  cos(2𝜃) = 

(a) 
8

25
                             (b) 

5

2
                           (c) 

16

25
                       (d)  

17

25
  * 

 

Q29 If   𝑓(𝑥) = √3 + 𝑥  𝑎𝑛𝑑  𝑔(𝑥) = √2 − 𝑥  ,   then   (𝑔 ∘ 𝑓)(𝑥) = 

 

(a) √6 − 𝑥                                                 (b) √2 + √3 − 𝑥 

(c) √2 − √3 + 𝑥   *                                  (d) √𝑥 + 6 

 

Q30 The domain of (𝑔 ∘ 𝑓)(𝑥)   if  𝑓(𝑥) = √3 + 𝑥  𝑎𝑛𝑑  𝑔(𝑥) = √2 − 𝑥  ,  is  

(a) [−3,1]  *                                             (b) (−∞, −3] ∪ [1, ∞) 

(c) (−3,1)                                                (d) (−∞, −3) ∪ (1, ∞) 

  

                                                                                                      With our best wishes 

 

 

 

 


